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Full Marks : 75
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INSTRUCTIONS TO CANDIDATES
( Please read the instructions carefully before you start writing your answers )

1. Questions should be attempted as per instructions.

2. Do not copy the Questions. Indicate the Section and Question No. clearly
while attempting the answer.

3. For Multiple choice answer, candidate should indicate the Question No.,
Sub. No., (if any) and the correct answer. For example :

1. Name the State capital of Mizoram.
(a) Lunglei
(b) Aizawl
(c) Champhai

Candidate should provide answer as—Q. No. I : (b) Aizawl
[ Candidate should avoid writing only (b) ]

4. The figures in the margin indicate full marks for the questions.
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( SECTION : A—OBJECTIVE )
( Marks : 10)
Choose the correct answer from the options provided : 1x10=10
1. Which of the following philosophies states that people are not just pawns of
the natural environment?
(a) Environmentalism
(b) Neo-determinism
(c) Possibillism

(d) None of the above

2. Human Geography emerges as the special branch of Geography in
(a) 15th century
(b) 16th century
(c) 19th century
(d) 17th century

3. The racial stock of the people of Europe belongs to
(a) Mongoloid
(b) Australoid
(c) Armenoid

(d) Caucasoid

4. The study of human language is
(a) learning
(b) reader
(c) languagine
(d) linguistics
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. High population growth occurred in

(a) developing countries
(b) underdeveloped countries
(c) rural areas

(d) None of the above

(a) Education

(b) Business

(c) Work and employment
(d) Marriage

. Determinism states that

(a) man is an active agent
(b) man is a passive agent
(c) environment is not a determinant of human activities

(d) men in present age

. Which of the following is the most important factor of urbanization?

(a) Industrialization
(b) Unemployment
(c) Modernity

(d) Lack of facilities in rural areas

. Kayak is

(a) fish
(b) boat of Eskimos
(c) house of Bushmen

(d) weapons of Bhils

. Which one of the following is the main reason for male migration in India?
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10. The Gujjars live in

(a) Western Alaska

(b) Siberia

(c) Western Himalayas
(d) Central Africa

( SECTION : B—SHORT ANSWER )
( Marks : 15))

Write short notes on the following :

1. Dichotomy between human geography and physical geography
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OR

Possibillism

. Dialect

OR
Minority language

. Factors affecting population distribution

OR
Density of population

. Nebular pattern of rural settlement

OR

Rural gentrification

Transhumance
OR

Society of Masai

3x5=15
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Answer the following questions :

( SECTION : C—DESCRIPTIVE )
( Marks : 50 )

1. Define human geography. Explain the subject matter of human geography.
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2+8=
OR
What is environment determinism? Explain in detail how environment
determines the activities of man. 3+7=
. Define religion. Explain the general classification of religion. 2+8=
OR
What is culture? Describe the evolution of human culture. 2+8=

10x5=

50

10

10

10

10

. Discuss the growth of world population. 10
OR
Explain the concept of demographic transition theory. 10
Define settlement. Explain the functional classification of towns in detail.

2+8=10
OR

Explain the trends and pattern of world urbanization. 10

. Describe the habitat, stature and economy of the Bushmen. 10
OR

Describe the physical environment and racial features of the Eskimos. 10
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